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1. Sallie Mae just found out that in 1800 one of her ancestors invested $300 in a savings

account that paid 4% interest annually. Find the account balance after the year 1950.
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2. For California, the population in 1900 was 1.77 million. Since then, the population has
rown at a rate of 3% per year. According to this rate, what was the population in 2000?
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3, Suppose the acreage of forest is decreasing by 4% every year because of development.
If there are currently 6,000,000 acres of forest, determine the amount of forest left
,'4/\ after 15 years.
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4, A $55,000 purchase depreciates at 16% each year. What would the vqiuibe after 10
N

Wﬂ‘j years?
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